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Q uiz4 B asic CalculusII

N am e :
Se ction: 8:30a m o r 10:30a m (circle one) Math 12 0

W ednesday Fe br uar y 2 8,2 001
R on B uckm ir e
A lan K no e r r

Top ic cove r ed: Te chniq uesofInte gr ation

The p ointofthisq uizisto illustrate your ability to e valuate inte rm ediately di±cultinte grals.

Instructions:

1.O nce you op e n the q uiz,you have 50 m inutesto com p le te it.

2 .W he r e e ve r p ossible indicate your answ e r cle arly,in the fo r m ofa se nte nce ,showing allwork
ne ce ssary to unde rstandyour solution.

3.You m ay notuse the bo ok or any ofyour classnotes,butyou m ay use a calculato r.You m ust
work alone.

4.Ifyou use your ow n p ap e r,p le ase stap le itto the q uizbe for e com ing to class.Ifyou don't
have a stap le r,buy one .

5.A fte r com p le ting the q uiz,sign the p ledge be low stating on your honor thatyou have adhe r ed
to these rule s.

6 .R e lax ande njoy....

7 .Thisq uizisdue on Friday,Fe br uar y 16 ,atthe be ginning ofclass.N O LA T E Q UIZZE S
W ILLBE A CC E PTED.

Pledge : I, ,p ledge m y hono r asa hum an being andO ccidental
stude nt,thatI have follow edallthe rule sabove to the lette r andin sp irit.



Math 12 0 Sp ring 2 001 Q uiz4
SHO W A LLYO UR W O R K

1.T hisp roble m involve sdi®e r e ntiation andanti-di®e r e ntiation.You m ay notuse calculators
on thisq uiz.

(a)(4points)Conside r the following di®e r e ntiation rule s

(f(x )¢g(x ))0= f0g+ fg0
Ã
f(x )
g(x )

!0
=

f0g¡ fg0

g2
[f(g(x ))]0= f0(g(x ))¢g0(x )

(ax )0= ax ¢ln(a) (e x )0= e x (x n)0= n x n¡1

(cos(x ))0= ¡ sin(x ) (sin(x ))0= cos(x ) (ln(x ))0= 1=x

Circle w hich ofthe above rule syou have to use to p r ove thatthe e q uation be low istrue . In
othe r w o rds,indicate w hich rule syou have to use to n̄dthe de rivative off(x )= 2 sin(x ).

d
dx

·
2 sin(x )

¸
= 2 sin(x )¢cos(x )¢ln(2 )

(b)(6 points)Use the factthatyou know thatf0(x )= 2 sin(x )¢cos(x )¢ln(2 )to e valuate the
following inte gr ale xactly.

Z ¼=2

0
2 sin(x )¢cos(x )dx =

You m ay ne edthe following info r m ation to co m p le te thisq uestion
sin(0)= cos(¼=2 )= 0; sin(¼=2 )= cos(0)= 1:


